Solution of ECE 315 Test 7 FO6

Find the numerical values of the constants.

1.

109n(327rt)<%A5[k a|+BS[k-b] , Tr =1/16

Using sm(27rf0t) (i/2)(8[k+m]-8[k-m]) , Te =T,
sin(327t)«———(j /2)(8[k +1] - [k-1]) , Te =T, =1/16
10sin(32at) = j5(6[k+1] - 8[k-1]) , Te =To=1/16

10sin(327t) > j58[ k- (-1)]+(-j5)6[k-1] , Te =Ty =1/16

A=j5,a=-1,B=-5,b=1

3cos(447rt)%A6[k a|+Bs[k-b] , Tp =1/11

Using cos(27rfot) (1/2)(8[k—m]+8[k+m]) , Te =T,
cos(44nt)«———(1/2)(8[k-2] +5[k+2]) , Tg =2T, =1/11
3cos(44nt)«———(3/2)(8[k- 2] +8[k+2]) , Tp =2Ty=1/11

3cos(44nt)%( (3/2)8[k-2]+(3/2)8[k—(-2)]) . Te =2T=1/11
A=3/2 , a=2,B=3?2,b=-2
Arect(at) = comb(bt)«—>—30sinc(2k) , Tr =Ty =2

Using (1/w)rect(t /w) fo comb( fot)e———s fosinc(wkfo) , Tz =T,
(17 4)rect(t / 4)=(1/ 2) comb(t / 2) > (1/2)sinc(2k) , Tg =Ty =2
(15/2)rect(t / 4) = comb(t / 2)«——>—30sinc(2k) , Tg =Ty =2

A=152 , a=1/4 , b=1/2

%(2rect(4t)*comb( )) = Aksinc(ak) , T =1

A= , a=
Using (1/w)rect(t /w) fo comb( fot)e———s fosinc(wkfo) , Tz =T,
4rect(4t) = comb(t)«——=—sinc(k/4) , T =Ty =1
2rect(4t)* comb(t)«———(1/2)sinc(k/4) , T =Ty =1

< (2rect(4t) » comb(t)) = j2ak(1)(1/2)sinc(k /) , T =T, =1
%(2rect(4t)*comb(t))i>jnksinc(k/4)  Te=Tp=1

A=ix=i3.14 , a= 1/4




Solution of ECE 315 Test 7 FO6

Find the numerical values of the constants.

1. 4S|n(367tt)%>A5[k a|+BS[k—b] , Tr =1/18
Using sm(27rf0t) (i/2)(8[k+m]-8[k-m]) , Te =T,
sin(367t)«———(j/2)(5[k+1]-[k-1]) , Te =Ty =1/18
4sin(32rt) > j2(8[k+1] - 8[k-1]) , T- =To=1/18

4sin(32nt) 2 j26[ k- (-1) ]+ (-j2)8[k-1] , Te =T, =1/18
A=j2 ,a=-1,B=-2,b=1
2 8cos(647rt)%A5[k a|+BS[k-b] , T =1/8

Using cos(27rfot) (1/2)(8[k—m]+8[k+m]) , Te =T,
cos(64nt)«———(1/2)(8[k— 4] + 5[k +4]) , T- =4Ty=1/8
8003(647rt)%4(5[k— 4] +8[k+4]) , Tp =4Ty=1/8
8cos(64rt) > (45[k— 4] + 45[ k—(-4)]) . Te =4T,=1/8

A=4 L a=4,B=4,b=4

3. Arect(at)comb(bt)¢<—>—18sinc(6k) , T =T, = 4
Using (1/w)rect(t /w) fo comb( fot)e———s fosinc(wkfo) , Tz =T,
(1/24)rect(t / 24) *(1/ 4) comb(t / 4)«—>—(1/ 4)sinc(6k) , Te =To =4

(3/4)rect(t / 24) = comb(t / 4)«———>18sinc(6k) , Tr =T, =4
A=3/4 , a=124 , b=1/4

4, %(grect(St)*comb( )) = Aksinc(ak) , T =1

Using (1/w)rect(t /w) fo comb( fot)e———s fosinc(wkfo) , Tz =T,
5rect(5t) * comb(t)«———ssinc(k/5) , Tr =Ty =1
9rect(5t) = comb(t)«——=—(9/5)sinc(k/5) , T- =Ty =1
%(9rect(5t)*comb( )) = j2rk(1)(9/5)sinc(k/5) , Te =To =1

%(grect(St)*comb(t))<i(j187rk/5)sinc(k/5) , Te=To=1
=j18n/5=j11.31 , a= 1/5




